Solution Concentrations

Molarity – The molarity of a solution is calculated by taking the moles of solute and dividing by the liters of solution.

Examples.

1. Suppose you had 2.00 moles of solvent dissolved into 1.00 L of solution. What's the molarity?

2. Calculate the molarity of 25.0 grams of KBr dissolved in 750.0 mL.

3. What is the molarity when 0.75 mol is dissolved in 2.50 L of solution?

Molality 


Molality (m) differs from Molarity (M) in that it is a measure of moles of a solute dissolved in a mass of solvent. Specifically, it is the number of moles (n) of solute dissolved in 1 kg of solvent. 

Examples:

1. What is the molality of a solution prepared by dissolving 8.87 

    g of methanol, CH3OH, in 20.0 g of water?

2. If you have 10.0 grams of Br2 and dissolve it in 1.00 L of cyclohexane, what is the molality of the solution? The density of cyclohexane is 0.779 kg/l at room temperature.

3. How many grams of water must be used to dissolve 100 grams         of sucrose C12H22O11 to prepare a 0.2 molal solution? 

Molarity = moles solute


                  Liters solution





Molality = moles solute


                  kg solvent








